Fixwidw %1 HE

2022 9H25H

o 33 = J2 O O X
CIREET = 77 5 .. LI R I I :
i S l7)) 3 X
DY -128 1 Iy R N °_| O
0-0| i 2% 050 | B | 8506 | 050 | 050 | 850
= i L3 14 =
chlofH CH H B CSH H CH T,
4)[7][2 fil ~ i ; S| W 4
TN S R R R R R
60-0 %mgzﬁ 23%'34 34 5| 24 31 35 48 35 3| 4
&‘\b\bzt 1 Bl *1*2?1']_'*1%31 A LA
BN S Y| . - Ed I A V. O33R
ﬁbﬁ 74 78@ 78 g |66 68,&‘?77%;72%”’
9_)6 =8 TH’ % m 1& m m 7 m m m m 1625 M
D 7 77 87 74 64 Sz 72 75 A= 79 HERM
[4](1][6] <T/\~J: ke b | ke ke ke Y |« 17:12
R b 75§‘7J3 S252A1 | S2A1A1 | A2A2A1 | A1A2AT | S2A1AT | A1S2AT | S2S2A1 |t i &)
0=-20 EoA I ; 93.33 91.00 93.90 91.06 93.33 94.62 98.04 [nifffs
%g ) 7 | B | 9233 89.36 94.48 94.00 91.96 91.67 9533 [Ef4/E
el B R | 115 8 101 EA 11988 109 B8 99 A 73 8 94H8 [|H8 7l
B %2 . 4m me g 0| AFN333 | JIE400 | F@FF 400 | FER500 | A= 500 | RE 333 | A#M333 [H—L
POm RSB = 3.92 3.92 3.92 3.92 3.92 3.92 3.92 FyE
HHHHHHH@%% & ¥ & ¥ B ¥ & < & < B & |¥ 7
B AW M s s B e € £ KN S| lm = =+ v x|+ |~ ~ = |H &
0 o K il [ bk meme | 50 OAE |6 B 40 [ BU & | A6 RE MG | kE BN S| WE 7 AL | KR KB K |0 1340
‘R AR S H 7 6 1M 4 HIR2 2 1|1 2 M|[ZITMM|4] JJ 9|5 3 2|0 1000
B EREIED L E R 5 5 O QMO0 D|0@ |05 |0K @6 6L 870
& |2Loxy D4 55| X|0OB|eH 1|0 1e|[@# 5(6 1 [7m
hva gg%;é@émﬁgtt AN Al A v |lm m o Bm|A A A ] ga#é}—j’,
T 15 ¢ B F 0 B [ [RK8 R 7 |he b0 R[S0 SE | W AR A0 |2 A0 ¥ BF B RE G0 RE 7 [XRE
#; ¥ ~~ ][5 (6 H ZMB?iIlZZ@Hmo@
= (18037 e[ o omw| & @ B |0 5 5|0 @ V@ L6 |5 @ W16 5 g | K @ B s
_125/53|73162(43(19|34 x| (1] @ K ©10|0012e 6 5 @ % |5 s fK
§ 133]67/86|72/60/41 /48| M E 2 AT A A A A = AN BN B
s D] P e w R | R R OAE AR B ORR | T4 WE 65 | T B W BB Gl RE WA AE 51 %
Tk g eleE® 2 MMM 2 M )3 (H O H|2 2 O)(M 1 4im H| &
T e o O B 5§ @18 O @@ me @] o6y m| sk
00 sl e ikle® 0|k Xk kler20|eelleex
5lalolalalz|2|ri|4 1052 9 3]04913|1 2211[0 11 5[0 5 3(0 3 3|7 3§
315(6|5|5(3(4|200[1 6 2/02212|0 14 910 13 7021 82 7 3|3 127 |@p
OOOOOOO;’HH272013408405301152147374ﬁﬁr‘a‘1iu
7781461883 3 |8 53 18| 1 37 9|0 11 4|2 16 8|0 3412|5 58 18|7 28 15|, ., &
4114|1119 |16/5 |9 [ 14| DDB2 | O®®2 | DW®?3 | Q023 | QD4 | OOO@©3 | @@ 2 |BHS
49|3516|11|25(53 28 |IHFIEE| RIBET | RBE< | RIBBX | LEEX | BBEX | LEEX | ®BEX |10 mm
o [TE A NEle) 7 @00 [ 3OO | ®O00® [ @G | ©0®® | ©OEeO [ O@E®®@ |E#ERF
B JA 0@@@6@@ $ 69 141 69 129 163 286 177 BEEE
B || 22 31|22 [ g s | [ REEEM | eemmar | R | aeme | REme | ReEe | e i H 5
7 = A = A P A LA 0000 | 6000 | 0006 | GD0O | BDOO | OGO | GO |L & i
¥ % <0® DEEO | 0BG | 6BOLE | @606® | @800 | 0A0 | @@h®@ [E# #
I ~@0 10.7 11.0 11.0 11.2 1.3 1.3 1M1 [BazlL
f.E 4 11.8 11.8 11.8 11.9 11.9 12.0 11.9 i% % T 1
Al " 101O) 111.0 | 1080 | 1067 | 1106 | 1100 | 1100 | 1.099 [0&E
7 %@ggéﬁ/ygéﬁg}égfg L0/6 # &[10/4 5 N10/5 1 |10/5 1 ®|10/3 # WI10/6 % &10/3 @ M|,
A TNQQ. O=OLIHVBNH, |10/15 1 R|10/17 & f|10/19 & #|10/16 F #&[10/15 % L|10/17 K H{10/10 & A
K CB) i END Wi O kit AT e U A = [CEE e
B B B 0150 (L) 119 Wia MR SEEe MEa  2270) 964 fEAKiE 120 & (2%)  AHET ERKAS 230
I 62. 6. 1|HAO% WREE 115 36 WiEss Q) WHOENB  3290(KHO EAARSD 117 15 @2~)  akRh HiAKES 420
= BB 1T 090 FAES0 116 L& HINEE WIIAED ) 840 927  (1388) 10.1 ' MhH 8 BFHAiL Mz 370
I 49. 7.23|HE0% HAHESN 11.8 88  (238)  PHAEK JIAMK 640 (nitE@HE @SR 104 & (238 HH0I88  LEE 5840
= A8 L K| 9168 ik 115 2% (258 fERRA FIAKEE  11020) 984 MK 11.8 ki (%)  EERL WeH 660
I 62. 6. 3| TOF KEER 120 Y% SIHH0  (3)  FAMKS  1170(kHOF HHED 119 %8 2B —/#IED 0902 460
ol M7 G 1131% 5 WAL EaEE AEREE 1950 547 (1) 118 el IRREE  (EAT (M 140
3. 4 18|EQME  NEMl 119 vadE TR mEGG G5 67200[3@%  (13E8) 128 Y& ERGE MEEKI0 s 1120
E % B W 0150 wlEES 117 i (205%0) BEEEs hisit 2140 9201 (1%0) 117 3 RIE @HEE %EC 3650
10, 3.27|ERO% (18 11.2 1 LNEthe CRERE  HE8 230 k%@ (18 111 75 TALsE MR 470
B B W57 &ldks 11.8 % & AHiGES Riligis (GA) 520| 937  Hdifak— 121 Yo B (234550) HELIEA NCERHD 210
M 63. 9. 5| 440 2HH /] HIROF DHIEZHIS 116 2 (28 7N SmEL 220
P ERZRMEAD| 0031  (1450) 114 25 Sk AAMAD ks 1860 934 Ikl 119128 =¢wi (38) (kikfkz 380
11 6.29|REO (S 11.6 1% & @k ek 4Q)  23250(mfi@% (1308) 11.7 il /MEWIR kbR s 390




